Lecture 4 - May 15

Overview of Compilation, Lexical Analysis

Example Compiler: Obj-Rel Bridge
Alphabets and Strings
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Example Compiler 2: Data Model
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Example Compiler 2: Source Program

|2

| Account regls*tered reg*l/st

class Account { class Traveller {
attributes attributes
owner: Traveller |. account name: string
balance: int reglist: set (Hotel . registered) [*]

class Hotel {
attributes # -
name: string ( - ”‘.7
registered: set (Traveller . reglist) [*]
methods
register {
t? : extent (Traveller)
t? /: registered
==>

registered := registered \/ {t?}
|| := t?.reglist \/ {this}

Ales




Example Compiler 2: Target Program

Account

account

01 Traveller [9 ls*tered

reglist

Hotel_registered_Traveller_reglist

PRIMARY KEY
CREATE TABLE

PRIMARY KEY
CREATE TABLE

PRIMARY KEY

‘oid' INTEGER AUTO_INCREMENT,

‘oid' INTEGER AUTO_INCREMENT,

Account Traveller Hotel Account_owner_Traveller_account
/ oid | balance ||oid | name | |L0id | name |[oid owner account
/ 1 1,100 JL 2 |alan 4 | GLAD 5 3 1
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b
CREATE TABLE ‘Account ‘(
‘oid' INTEGER AUTO_INCREMENT, ‘balance' INTEGER, Table Schemas
PRIMARY KEY (‘oid?'));
CREATE TABLE ‘Traveller(
‘oid' INTEGER AUTO_INCREMENT, ‘name‘ CHAR (30),
PRIMARY KEY (‘oid‘));
CREATE TABLE ‘Hotel®(
‘oid' INTEGER AUTO_INCREMENT, ‘name‘ CHAR(30),

(‘oid"));
‘Account_owner_Traveller_account " (
‘owner ' INTEGER, ‘account‘' INTEGER,

(toid"));

‘Traveller_reglist_Hotel_ registered(

‘reglist ' INTEGER, ‘registered‘' INTEGER,

(toid"));

oid registered reglist
6 2 4
7 3 4

BEGIN

END

CREATE PROCEDURE

‘Hotel_register ' (IN ‘this?‘' INTEGER, IN ‘t?‘ INTEGER)

Stored Procedures




Example Compiler 2: Path Transformation

Table Queries
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Scanner in Context
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Scanner: Formulation & Implementation 7

Kleene’s Construction

Code for
_'_@ a scanner
DFA Minimization DFA

Tho%npson’s @ Subset &
Construction Construction
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